04578 Tk &

7= miiEA

M
&, EERMARAARN,
FEHRMEI T EN,

g
FHREREAELLE,
ER, XRERZFARMBEECLE,

= AR
%% DIN 912

J
=
- / G
| ] | ]
i 4 : :

7 .

_
_‘@

N
RAS
1B L 84
1,5_y 15 (fREs)
N
)
- —H——— —t-+ w| @
= \
?“@J @ / {\
} \
L TR IR BRI 61 X 0 A

© norelem www.norelem.com




04578 T % E

04578-080400 45|45 (40|30 25| 53 | 12| 31 M8 | 32| 625 M8x35 M4x4 15000 25
04578-100500 5555|5040 30| 71 16|39 | M10 (40| 74 M10x40 M4x4 27000 50
04578-120600 6565|6045 35| 8 |20 |47 | M12 |48 | 91 M12x50 M5x5 38000 90

© norelem www.norelem.com



